SPARE PARTS LIST

MODEL NO. SK303

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 TKOOLV5511 RING 1
002 TKLV5289EA TOP CAP ASS'Y 1
003 TKOC3060SS OVAL COUNTERSUNK HD. SCREW M3x 4
004 TKLV5023EA BODY HOUSING ASS'Y 1
005 TKOC3060SS OVAL COUNTERSUNK HD. SCREW M3x 4
006 TKOOLV5512 SEAT FOR TRACK CIRCUIT PLATE 1
007 TKOF3060SS COUNTERSUNK HD. SCREW M3x6 4
008 TKOOLV5359 WIRE COVER 1
009 TKO3P2030B Pan HD. Screw M2x3 4
010 TKLV5274EA POWER/MODE PANEL COMP. 1
011 TKC3060SSBOVAL COUNTERSUNK HD. SCREW M3x 2
012 TKOLV5562S BASE COMP. 1
013 TKO3P2060B Pan HD. Screw M2x6 4
014 TKO3P2040N Pan HD. Screw M2x4 2
015 TKOOLV5019 Circuit Board (C) 1
016 TKLV39486S BATTERY BOX COMP. 1
017 TKC3060SSBOVAL COUNTERSUNK HD. SCREW M3x 1
018 TKOOLV3971 BATTERY BOX COVER 1
019 TKLV50573S YOKE COMPLETE 1
020 TKOP3060SS Pan HD. Screw M3x6 3
021 TKOOLV5513 TRACK CIRCUIT PLATE 1
022 TKO3P2040N Pan HD. Screw M2x4 4
023 TKOLV50593 CONTROL PLATE 1
024 TKOOLV1933 RING NUT 1
025 TKOLV5533A DRIVING UNIT ASS'Y INC.C10-C30 1
026 TKOLV5477A VERTICAL LASER-UNIT ASS'Y 1
027 TKF2550SCZ COUNTERSUNK HD.SCREW M2.5X5 4
028 TKS8010SS0 HEX.SOCKET HD.SCREW M8X10 5
029 TK00000S80 HEX. SOCKET HEAD SCREW M8 1
030 TKP3020SCUPAN HD.SCREW M3X20 4
031 TKOSW30SCZSPRING LOCK WASHER 2 M3 4
032 TKOLV5040S GIMBAL COMPLETE 1
033 TKOLV5453S HORIZONTAL LASER-HEAD COMPLETE 1
034 TKOOLV5575 Laser Line Adjusting Screw 1
035 TKO3P2040N Pan HD. Screw M2x4 2
036 TKOF3060SS COUNTERSUNK HD. SCREW M3x6 4
037 TKOLV5483A Gyro Ass'y 1
038 TKO3P2040N Pan HD. Screw M2x4 2
039 TKOOLV5019 Circuit Board (C) 1
040 TKO3P2040N Pan HD. Screw M2x4 1
041 TKOOLV5465 Connecting Circuit Board 1
042  TKO3P2060N Pan HD. Screw M2x6 1
043 TKST2025SC SPACER 2X2.5 1
044  TKOOLV5464 Sensor Circuit Board 1
045 TKOP2050SS Pan HD. Screw M2x5 (SUS) 2
A0l TK3030K000 TOOL CARRYING CASE 1
A02 TK303ECB01 CARTON 1
A03 TKOLEG2000 LASER ENHANCEMENT GLASSES 1
A04 TKORCN1100 REMOTE CONTROLLER 1
AO05 TKOLD11001 Receiver Unit 1
AO06 TKOLD1630A Receiver Clamp Set 1
1

A07

TKOOLD1027 Receiver Unit Case




SERVICE DRAWING

MODEL NO. SK303

PAGE 1

Modek

SK303 LASER LEVEL

9.11.2002




SERVICE DRAWING

PAGE 2

MODEL NO. SK303

Model: SK303 LASER LEVEL

A8

9.11.2002




